t34_metric_1
(TMUZSSSeCzAmVE)EaXhagJ u8V2XDWVKG6NVK)

October 27, 2020

Let v2_struct.0 : t=0 be given. Let [1_metric.1 : =0 be given. Let
ml_subset_1 : t=t=>0 be given. Let ul_struct_0 : t=-¢ be given. Let k15_metric_1 :
t=>1=1=>1 be given. Let rl_metric_1 : 1=1=1=1=>0 be given. Let k2_xboole 0 :
t=1=1 be given. Let k2_tarski : t=1=-1 be given. Assume the following.

VYX0VX1VX2.(X2=k2_zboole.0 X0 X1)=(VX3. (1)
(X3 € X2)&((X3 e X0)V(X3 € X1)))

Assume the following.

VXO0VX1.VX2.(X2 = k2_tarski X0 X1)< (VX3 @
(X3 € X2)=((X3 = X0)V(X3 = X1)))

Assume the following.

VX0.((—v2_struct-0 X0)A(I1-metric.1 X0))=(VX1.
(ml_subset_-1 X1 (ul_struct 0 X0))=(vVX2.(ml_subset_1 X2
(ul_struct.0 X0))=(k15_metric.1 X0 X1 X2 = k2_xboole_0 (ReplSep
(toset (AX3:1.ml_subset 1 X3 (ul_struct 0 X0))) (AX3:
vrlometric.l X0 X1 X3 X2) (AX3::.X3)) (k2-tarski X1 X2))))
(3)

Assume the following.
VX0.¥X1.k2_xboole 0 X0 X1 = k2_xboole 0 X1 X0 (4)

Theorem 1

VX0.((—v2_struct_0 X0)A(I1-metric.1 X0))=(VX1.
(ml_subset-1 X1 (ul_struct-0 X0))=(VX2.(ml_subset_-1 X2
(ul_struct-0 X0))=(VX3.(ml_subset-1 X3 (ul_struct.-0 X0))=
(X3 € k15.metric.l X0 X1 X2)&(~(~rlmetricl X0 X1 X3 X2)A((X3#
X1)A(X3£X2)))))))



